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QUESTION 1

What are three valid migration modes in VMware HCX? (Choose three.) 

A. Planned Failover 

B. Hybrid Linked Mode 

C. Bulk Migration 

D. Replication Assisted vMotion (RAV) 

E. HCX vMotion 

F. Cross vCenter vMotion 

Correct Answer: CDE 

 

QUESTION 2

A customer plans to use VMware Cloud on AWS to support their public cloud adoption initiatives. Their use case for
VMware Cloud on AWS is predominately data center extension to support seasonal and business specific demands.
There will also be a number of workloads running in VMware Cloud on AWS on a long-term, permanent basis. Based on
a recent sizing assessment, it is determined that utilization of VMware Cloud on AWS will fluctuate between two and five
hosts throughout the year based on seasonal and market conditions. Which possible subscription option would result in
the greatest benefit to this customer and why? 

A. Create a subscription for five hosts for three years. This option provides the greatest cost savings to the customer
and eliminates the amount of time needed to provision and configure VMware ESXi hosts as consumption fluctuates. 

B. Create a subscription for two hosts for one year and consume the remaining hosts, as needed, on-demand. This
option allows the customer to lock in a term rate for required hosts and leverage on-demand rates for additional hosts as
needed. 

C. Consume VMware Cloud on AWS on-demand based on seasonal and business requirements. This option provides
the cost benefits of cloud through an on-demand consumption model. 

D. Create a subscription for three hosts for three years and consume the remaining hosts, as needed, on-demand. This
option allows the customer to lock in a term rate for required hosts and leverage on-demand rates for additional hosts as
needed. 

Correct Answer: D 

 

QUESTION 3

An administrator is preparing to deploy a VMware Cloud on AWS software-defined data center (SDDC) and is planning
to scale up to 48 nodes in the future. What is the minimum size management CIDR block that is needed to meet this
requirement? 

A. /24 
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B. /16 

C. /23 

D. /20 

Correct Answer: D 

 

QUESTION 4

Refer to the exhibit. 

An administrator completes an assessment of its local data center for potential migration into VMware Cloud on AWS.
After reviewing and analyzing the data and taking into account the company\\'s business and IT priorities and budget
constraints, connectivity between its on-premises and VMware Cloud on AWS environment will NOT require any high
speed low latency connections. All new networks should be added to the software-defined data center (SDDC) routing
table automatically when created. Which connection supports these requirements? 

A. Layer 2 VPN (L2VPN) 

B. AWS Direct Connect 

C. Route-based VPN 

D. Policy-based VPN 

Correct Answer: D 
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QUESTION 5

When deploying a VMware Cloud on AWS software-defined data center (SDDC), which three default components are
located behind the T1 Management Gateway? (Choose three.) 

A. Three-node VMware NSX-T Controller Cluster 

B. VMware vCenter Server 

C. VMware Site Recovery 

D. VMware vRealize Log Insight 

E. VMware NSX-T Data Center Manager 

F. VMware HCX Cloud Manager 

Correct Answer: BCD 
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